Puissances de Dix (A)

Trouvez chaque produit ou quotient.

1,8 X100 = 4,78 x 1 000 =
2,561 x 1000 = 49 x 10 =

4,3 x 1000 = 9,2 %10 =

9,7 +10 = 4,06 -10 =
5+100= 3,43 x 1000 =
6,4 +1000= 1,0448 - 10 =
5133 -+1000= 9,586 - 10 =
2,639 X 100 = 44815+ 1000 =
9,3+10= 8,0433 x 1000 =
7,561 x 10 = 9,838 X 10 =

MathsLibres.Com




Puissances de Dix (A) Solutions

Trouvez chaque produit ou quotient.

1,8 X100 =180

2,561 x1000=2561

4,3 x1000=4300

9,7+10=0,97

5-+100=0,05

6,4 +1000=0,0064

5,133 +1000=0,005133

2,639 X100 =263,9

9,3+10=0,93

7,561 x 10 =75,61

4,78 x 1000 =4 780

49 x10=49

9,2x10=92

4,06 ~ 10 =0,406

3,43 xX1000=3430

1,0448 =10 = 0,10448

9,586 +~ 10 =0,9586

4,4815 + 1000 =0,0044815

8,0433 X 1000 =28043,3

9,838 x 10 =98,38
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